MAT 126 Summer II Midterm

Last Name: First Name: Student ID:

Problem | 1 2 | 3 Total | Bonus
Points |1 30| 30| 20 100 15
Scores

This midterm has five problems, weighted as shown. Please show yc;ur work — full credit may not
be given if only the answers appear. No calculators or books will be allowed on this test.

When calculating indefinite integrals, the answers should be in explicit forms, unless otherwise

stated.

1. Evaluate each of the following definite integrals.







2. Calculate each of the following indefinite integrals.
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3. Calculate each of the following indefinite integrals.

(a) /tan4xsec6x dz = S\%,\ “X Sec “v See X oex

@ v@-} A i‘/‘ﬁn X M %‘#K -;ch\k)(-f[)h
5 Au = sec *x dx = @)

Q Han gtﬁ(uﬂ)lo[w
gtﬁ'(“ e+ () dn
§(M ,{,?_UL o )AV\

t

)
_ [
9 7?—
L
9
®) [

2
Dl—é’:. = lff?m@
L | P
S, & '§We\®e P02 4o
f
@ oY E See 9 &9
v ’if_g ox-9 46
2 - [ 12 do
©' 5~ 16 (9-\- LS\\'\Q—S)) + C
0) - % aresec £ fgls\r\CLth(-ff))
_U



4. Express the following limit as a definite integral. Do not evaluate the definite integral.
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5. Find the derivative of the following function.
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6. (Bonus) Evaluate the following indefinite integral

/ sin(lnz) dz

gy a:\mx

@ Than X = Qé 2 dx :eao@a
SQ}!\ () olx
1 :
B -y ey
A w= ed _ o= 630(3
v = S0y oly Ve —s g

@% bt by Perts -eﬁmg +V(a/;a~€3%&
T B (wgendy o b w-ed s etdy

é! | dv= eagdy vz sy
bt ‘3@5’% . g&aeada =3 e,ﬂg&a —fs»‘.ge&o%

9v<§mg an% . —ed 043 +ed 5“16 '-\(sz\a eéa%
= lfﬁmta 650(6 = \63%3 +€'3§m<7
. fw;] 630‘3 = @5@%3 +s~w5)+c

3
b
0 d=lax - ﬁlnx(- %Uv\@{— wa(kx))f(
_ 8 = X+ (—con(tan) +sn(lex) )+ C.

&
e



